PC10372, Mathematics 2
Workshop Sheet 2 Solutions

1. (1) f—2:1:y Y2, 5—£:x2—2xy

(i) 2 = o cosy, % = —c*siny
(ii1) 3 af = —2aqre =’ +v?) 85 = —2aqye~ o= +y’)
(IV) af = 27y Cos .CL’ Yy), af = .',E CcOoS ny
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(V) af_ a+y? ’a]c’?y - xﬁ/?
(Vl) = xél/’ 8y >
2. (1) 8:52 2y, S5 = —2x
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(i) g = e’ Cosy, 3yf = —e" cosy
(111) g ‘é = ( 2@) —a(z?+y? )’ - 2 — (4@ y2 . 2@)6_0(1'24‘3/2)

3(1)(9 = 2x — 2y, gf =2x — 2y

88 ox
() a:cay = —e’siny, 8y£ —e’siny
- ) 22
(i) -2 axay = da?zye— @) 8y£x = 4arye @y
Comment: Notice that af = 885 in all three cases. This is a general result. The value

of a mixed derivative is 1ndependent of the order in which the derivates are taken.



